GROUP EV

Exploded View :EV 460 FUEL SYSTEM

Drawing No. : 10000032693

Page 1 of 2

Revision : -A-
Date : 4/20/18



EXPLODED VIEW: EV 460 FUEL SYSTEM

DRAWING #: 10000032693

GROUP

EV

ITEM PART# QTY. DESCRIPTION

1 0L6351 1 ASSY AIRBOX HSB2016 GSH426

2 0E9371A 1 FILTER AIR HSB MY 2012

3 0L4408 1 AIRBOX LID, GS426 HSB

4 0L6733A 1 ASSY REGULATOR 1/2” INLET
A 0F4795 4 SCREW PPHM M4-0.7 X 10 SEMS
B 0J7137 1 SOLENOID SHUTOFF VALVE
C 0J8315A 1 ASSY SOLEN PLUNGER & SPRING
D 0C4647 1 GASKET SOLENOID

5 10000033703 1 ASSY MIXER 14 X 19 W/EC

6 0L5082 1 ADAPTOR, MIXER TO BELLOW GSH

7 0L4512 1 BREATHER HOSE

8 048031A 2 CLAMP HOSE BAND 1.63

9 048031M 5 CLAMP HOSE BAND .75

10 0C8566 2 SCREW HHFC M6-1.0 X 20 G8.8

11 0E5139 3 SCREW HHFC M6-1.0 X 8 G8.8

12 0K0913 2 SCREW SHC M6-1.0 X 16 LG SEMS

13 0K8830B 2 HOSE LP NG 1/2" ID 24" L

14 0K0710 1 O-RING 1-3/4 X 1/16 VITON 031

15 0L5081 1 BELLOWS INTAKE GH HSB

16 0G1705 2 SCREW HHFC M6-1.0 X 14 G8.8

REVISION: -A- Page 2 of 2

DATE: 4/23/18



